
PhuTAri 3-Cell - Easy

Puzzle ID: X39AAV73

697    2    2245857    5    1105    19    1209    2356    5330    98022    2

2 = 2

2 = 2

5 = 5

19 = 19

697 = 41 x 17

1105 = 17 x 13 x 5

1209 = 31 x 13 x 3

2356 = 31 x 19 x 2 x 2

5330 = 41 x 13 x 5 x 2

98022 = 31 x 31 x 17 x 3 x 2

2245857 = 41 x 31 x 31 x 19 x 3

Copyright © Puzzle Baron March 24, 2023 - Go to www.Printable-Puzzles.com for Hints and Solutions!

http://www.printable-puzzles.com/printable-phutari-puzzles.php?i=X39AAV73#hints

